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Instructions: Find the percent of area undet the curve represented by the graphs.
|

1. Find the shaded area with a mean $f 100, and a standard deviation of 15.
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2. Find the shaded area under the curve if the mean is 0 and the standard deviation is 1. The cut-
off score hereis z = —1.28.

x”“\ nocmaded] (- €94, ~1.28,0, 1) =

.00 2726.. .

-4 2 3l 4
3. Find the shaded area under the curve for the cut-off value z = 0.5.
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4. Find the shaded area under the clirve for the cut-off values x = 56,x = 94 for the mean of the
distribution at 75, and a standard deviation of 10.
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4, with mean 0 and standard deviation of 1.

7. Meanis 21, and standard deviation is 5. The cut-off values are 22 and 28.
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Instructions: For each of the problems below, the percentage under the curve is indicated. Find the z or
x cut-off values for the region given the mean and the specified standard deviation.

8. The area under the curve is 45%. With mean of 0 and the standard deviation is 1.
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10. Assume the mean

L WXWE:';I

11. Assume the mean
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is 0.88, and the standard deviation is 0.15.
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is 0.72 and the standard deviation is 0.02. ‘
A |-, 2119 =.785]

iy Novm (7881, . #2,:02)=, 735976 - -

"\. |
\ I
\

02119 L
3L |

12. The mean is 250, and the standard!deviation is 5.
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Instructions: On the blank|
units of standard deviations.

normal distribution graphs below, mark the mean and additional values in
Shade the reg‘ion described by the situations for each problem.

| |
13. The mean is 45, tl'\’e standard deviation is 4. Find the probability of being above 49.

no,mi%@?,mq) gs,4)

o 4

}-4q  13Hdeo
8% (2 =34

| /"'I.
Stvet34%4 = S4% bla>

41
IOO —84 % t[(gjéw

o
-

&

:cis)-%ss"o

dlove

14. The mean is 62, the standard deviation is 13
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Find the probability of being below 65.
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15. The mean is 0.31, the standard de?viation is 0.06. Find the probability of being between 0.22 and
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